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Match the thl]uwing :
(a) Aquaporin (1)
(b) Asparagine
(€) Abscisic acid (jij) Polypent;
gy : Ypeptide
(:_1; Chitin (1v) [‘armmr:n:i ;'
Select the correct option - i
(1) (@)(ii). (b)(iii), (c)(iv '
1 Ul (e)-(v), (d)-
(2) {a]-{!!_}. (b)-(i). (C)-(iv), hi;-:::ul:::
(3) {.a}-{”!)a (b)-(i), (c)-(ii). (d)-(iv)
(4) (a)-(iii), (b)-(i). (€)-(1v), (d)-(ii)

1) Amide
(1) Fnl}succhuridu

I'he hi?w}'mhuﬁi&: of ribosomal RNA
OCCUrs in :

(1) Golgi apparatus

(2) Microbodies

(39 Nucleolus

(4) Ribosomes

Who coined the term ‘Kinetin® ?
(1) Darwin

(2) Went

(3) Kurosawa

(4) Skoog and Miller

The number of contrasting characters
studied by Mendel for his experiments
was ;
(1) 4
(3) 7

@) 2
(4 14

Correct position of floral parts over
thalamus in mustard plant 1s -

(I) Margin of the thalamus grows
upward, enclosing the ovary
completely, and other parls arise
below the ovary.

Gynoecium is present in the centre
and other parts cover it partially.
Gynoecium is situated in the centre.
and other parts of the flower are
located at the rim of the thalamus, at
the same level. |
Gynoecium occupies the highest
position, while the other parts are
San e wE AL

(2)
(3)

(4)

|

26 \fFrefafEd #1 ghfba it
(a) T () uAEs
(b) T (i) s (el
(¢c) ufenfas e (iil) WayerEs
(d) @rfe (iv) Fifeigs
e fawmeq Fro
(1) (a)-(ii). (b)-(iii), (¢)-(iv), (d)-(1)
(2) (a)-(ii). (b)=(i), (c)-(iv). (d)-(ii1)
(3) (a)-(iii). (b)-(i), (c)-(ii). (d)-(i¥)
(4) (a)-(iii). (b)-(i). (c)-(iv). (d)-(i1)
27 g g ST, 1 e deAE
(e 7
(1) 7eail IUhRTo
(2) "EEEEE (FEHE)
(3) =
(4) TEIEE

i) st fead Pt fear a1 ?

-~

28
(1) =
(2) 9=
(3) FHuEmE
(4) =7 &l fhee

Hee BT SI0H WA eremad B T faaf
A @ Hem e o0y 7 i
(1) 4 (2) 2

(3) 7 (4) 14

AEE (FHI) % NE H qEEH 9 quig wp

71 fafr Fre1 % @ 29 @ WA awir 28

(1) gumEs @1 BTt 9% 1 6T gha wea
& ot sv=iym & ot ®9 § @7 %57 aay
& ol &9 9T SvEE & 9 ¥ saey
A ¥

(2) wmE &= 4 Rud & o e w29
arifers =9 F 2L A ¥

(3) wmam &= ¥ fum #, ot g ¥ aryg
;mgmmaﬂiﬁ‘tWWErtwﬁaa

|

(4) W wad FuT fiag &, = s an

hE T faa ¥

29

30
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h4 F:Hnﬁ::m depression is -

(1) W_r.,__.quE_ Productivity gue (o mating

o h Jv,:_u.rw_,;_., :E_w and inferjor _,r._::_m

€Crease in body MAass of progeny

due to continued close .H:_._H,nna.”n:m.

(3) wnmr_nnm w_m.,_.:_:w. and productivity
" ue 10 continued ¢lose inbreeding

Reduced motility and i

. nmunity due
to close inbreeding

65 Maich the following columns

the correct option :
Column - 1

and select

Column - 11

(1) Typhoid (a) Haemophilus
influenzae

(11) Malaria (b) Wuchereria
bancrofii

(111) Pneumonia (¢) Plasmodium vivax

(1v) Filariasis (d) Salmonella tvphi

(1) (1)-(c). (1)-(d). (11i)-(b). (iv)-{a)
(2) (i)-(a). (ii)-(c). (iii)-(b). (iv)-(d)
(3) (i)y(a). (ii)-(b), (iii)-(d). (iv)-(c)
(4) (1)-(d). (ii)-(c). (iii)-(a). (iv)-(b)

66 The increase in osmolarity from outer to
inner medullary interstitium is maintained
due to :

(i) Close proximity between Henle's
loop and vasa recta

(i1) Counter current mechanism

(iii) Selective secretion of HCO; and
hydrogen ions in PCT

(iv) Higher blood pressure in glomerular
capillaries >

(1) (iii) and (iv) (2) (i), (i) and (iii)

(39 (1) and (i) (4) Only (11)

67 The proteolytic enzym rennin)is found
n : I
(1) Bile juice (2) Gastric Juice
(3) Pancreatic juice (4) Intestinal juice

24
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64 Ho.uTHA sgEEd ?

(1) 9% 5% vd f= amr & w5 BC-
TEEET § Bl =

(2) Friee Pz sidusee % oo d@dia @
SIS F=a9 o ]

(3) Friat e sidus=e & ooy = &9l
Ug JEEdal § HHl

(4) Pz simwsmm & o wiysear od

gfercer o &)
65 Fr= wni o faem v @) faseg &1 999
2 S
(K N | a9 - 11
(i) ZIEHEsS (a) EMHITSTg
1_ & 5
(i) wefear (b) gaiftar dwiverE
(iii) =gHIan (c) w=i=aq
FIEaTy
(iv) TIEWTEOraE (dy greIET 2IEwT
(1) ()=(c), (i)-(d). (ni)-(b), (iv)-(a)
(2) (i)=(a), (ii)=(c), (iii)}=(b), (iv)-(d)
(3) (i)(a), (iD)-(b), (iii)-(d). (iv)-(c)
(4) (1)=(d). (ii)=(c). (ii1)=(a). (iv)-(b)
66 =eT H HiET FeAish ST § 9UE g

@ Weall s mro Fatha e 2 e

(i) ®e W91 UE grET (AT & 6" e
Tty

(i) wiaemo Teatafy

(iii) PCT ¥ HCO; U9 ®EEEH 341 1
CRIRniR-CL

(iv) e & ¥ 9e 1@ e

(1) (i) T (iv)  (2) (i) (ii) v (iis:

(3) () wa (i)  (4) *a (ii)

67 Wi sre TeTEH PR e
€T -
(1) foer a1 o
(3) arr=remy TEl 9

gy e
1'II#T-I|||.|”J..I|

(2) "=t = o
(4) o= @& H

15
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163 Which of the following statement 15
correct about Bakelite ?

(1) It is an addition polymer.

(2) It is a branched chain polymer.
(3) Itis a linear polymer.

(4) It is a cross linked polymer.

164 Which of the following compound
most reactive in electrophilic aromatic
substitution ?

NO,

(1) (2)

OH Cl

(d) (4)

165 The potential energy (y) curve for H,

formation as a function of _E_E,:ﬁr_nnqm

distance (x) of the H atoms is shown
below.

N ..-

-y

Bl e e

C

The bond energy of H, is

_Hnlﬂu A—u_alm—”_
. > =3

4) (b-a)

(1)

(3) (c—a)

163 3Fa32 & fiu Frafafaa % 9
Gt
(1) T% % Hawe agad &
(2) TF % fign e GEED ©
(3) @& UF @ agas £
(4) 98 UF fodwas agos &

164 mﬂﬂﬁi&?uﬂﬂqﬂwﬂﬂﬁﬁmw

mmﬂﬂ_ ﬂ&wﬂﬁ.@%%ﬂmﬁ

:vﬂww ﬂEﬁHU
D:

& wd

165/, faram & fom simonfves 28 (x) % wem

NO),

— & &0 | Rafew st (v) =% 99 Ramr

z |
I i
| B e e
c
m——— X
H S S
(c—a) (b—a)
Y e
(1) 5 (2) 5
(3) (c—a) (4) (b-a)

| o PR R |



157 Identify the correct statement from the
following.

(1) Lithium and Magnesium show some
similarities _.m their physical
properties as they are diagonally
placed in periodic table.

(2) Lithium is softer among all alkali
metals,

(3) Lithium chloride js deliquescent and
crystallises as a hydrate, LiCI'H,O.

(4) The order of hydration n:_rmmnwam of
alkaline earth cations

.t“ 2 1 1 Y
Be=" < Mg=* < Ca2* < Sr2t < Ba2t

158 Match the H..,.,____ﬂ__..._..m_..m... aspects with the

respective metal,

Aspects

(a) The metal (i)
which reveals
a maximum
number of
oxidation states
The metal
although placed
in 3d block is
considered not
as a transition
element
The metal
which does not
exhibit variable
oxidation states
The metal
which in +1
oxidation state in
aqueous solution
undergoes
disproportionation
Select the correct option :
¢1) (a)-(iii) (b)-(iv) (c)-(i) (d)-(i1)
(2) (a)-(iii) (b)-(i) (e)-(iv) (d)-(iD)
G) (@) (B)-(iv) (@) (@i
(4) (a)-() (b)(iv) (c)-(ii) (d)-(iin)

Metal
Scandium

(b) (ii) Copper

(111) Manganese

(c)

(iv) Zinc

(d)
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158 Fr=fefaa uee @ wafug «

157 Frfofiaa # 4 sfiq Hom wEdEl L

(1) e sy frfifyras oes HITae Tores]
mﬁ§.|ﬁ§|w%w
st Tt # ferofa: Rad € )|

2) wifaas wi ar enge # §9E YT ¥

(3) gy Fimes vy & o US wEEe
LiCI-H,O % &4 firefod & & |

(4) @rir w7 aga @ SEarEe eiedal
Eal- o

Be+ < Mgt < Ca?t < Sr2* < Ba-*

& 9 gad

_l_-||IJ|.|||I|.|-I-.

D

Em.m-mmalil E

ST T TIT
FawEnAr
wiaHas qEn
m_M_ﬁmﬁ@w_
9% arg W 3d
wWe o flag &
fiFT 1 w@aor o=

(b) (ii) raEr

(c) (iii) BTy

(d) (iv) fd=s

afga fames gfo

(1) (a)-(iii) (D-(V) (e)(i) (d)-ii)
(2) (a)-(iii) (b)) (e)~(iv) (d)-(ii)
(3) (a)ii) (0)-(iV) (e)-(i) (d)-(iii)
(4) (a)()) (b)F(v) (e)-(ii) (d)-(iii)

— nﬂﬂ_—n—-l

et T R —



o s il are | 106 A" H 2917 Srgare e gush & wiene e
as shown in the figure below. D__.u__w_u._ _.wn,__”p ﬁ_w o T 9 Reh E.ﬂ% »

M.._n.mna and after sometime ap jror _.:M_. ,. GRUEGRCR T Ehr gt A F S 3P
mserted into the interior of the ind I 9T 93 @Am__mrwmnmi_ % viae faed .u"_ll_n_ S
The glow of the light SR B BE e P w # ) v mor 9 A
mlﬁmﬂ.ﬁ e
&) o
/R
L
(1) remains unchanged 1) sfafta ah
(
(2) will fluctuate 5 e
(2) A °92-9% %
(¥ Increases
(3) =% W
(#) decreases .
(4) "z =

107 Two solid conductors are made up of
same material, have same length and same | 107 99 w24 & &9 799 TS % 31 BTH ATeT]

resistance. One of them has a circular Wn@ HAFE 1379 9 aﬂﬂ_%ﬁ_ﬂ
cross section of area 4, and the other gt & e @ﬂmml_ A, * T @ &
one has a square cross section of area SWEIEZ aET & R 8 PE
A, . The ratio A4, /A4, is A4, FT 7 A e
(1 1 (2) 0.8 (1) 1 (2) 0.8 o.eam
.!m_-. ....lru.r -
108 The magnetic field in a plane | yog g e frvrrermasiiy w4 e o
electromagnetic wave is given by, g g 0 wn L

B =2x10~" sin(xx103x+3rx10' 1)z
..ﬂi

B, =2x Euqmm:rﬂx 107 x + 3r < 10 H,..w_

Calculate the wavelength. TR fret Ffm

3
(1) Ix102m (2) 2x10°m (1) 2x10~m (2) 2x10°m
(3) ®x107m  (4) rx10°m 3) mx107m (4 wx10°m

25 C
[24] z6_tindi-+English | Lot




i3

S

o
b _—_-.- ——..i.._.:-

L

-

e — Lo

40

41

41

43

44

45

24

which of the lollowing statements is
incorrect about gymnosperms ?

(4) Male and female gametophytes are
free living
(2) Most of them have narrow leaves

with thick cuticle
(3) Their seeds are not covered
(4) They are heterosporous

In the polynucleotide chain of DNA, a
nitrogenous base is linked to the -OH of :

(1) 3°C pentose sugar
(2) 5°C pentose sugar
(3) 1'C pentose sugar
(49 2'C pentose sugar

Air (Prevention and Control of Pollution)
Act was amended in 1987 to include
among pollutants

(1) Allergy causing pollen

(2) Noise

(3) Particulates of size 2.5 micrometer
or below

(4) Vehicular exhaust

Inclusion bodies of blue-green, purple and
green photosynthetic bacteria are :

() Gas vacuoles

(2) Centrioles

(3) Microtubules

(4) Contractile vacuoles

Vegetative propagule in Agave is termed
as :

(1) Bulbil
(3) Eye

(2) Offset
(4) Rhizome

In some plants thalamus contributes to
fruit formation. Such fruits are termed as :
(1) Aggregate fruits

(2) True fruits

(3) Parthenocarpic fruit

¢4) False fruits

Z6_Hindi+English |

10

41

42

43

44

45

(3) 9% 9% =% =F =4

(4) w_?ﬁg%@w

ELUAU. # gfararess SEer ®
TR & farrs -QF .ﬂ
(1) 3'C 49 sy

(2) 5°C w9 s

(3) I'C 99 s/

(4) 2'C 49 s

g (W &1 fareor sfix fadson) o
1987 3 wuifera e et e, s
T A UguS 9t ¥ 7

(1 |ﬁm&ﬂ|.. a1 HE A g

(2) st

(3) 2.5 AEHEET 91 T899 $Y HHT &
(4) @ | g gard

Aier—gfa, AT (T9) S #he wemrer H
Shempst § sfafie s @ & 7 |

" Tntd.-



. block

acceleration ol the

Calculate the
i own in the fgure.

d trolly system sh
ﬁr coefficient of kinetic friction hetween
the trolly and the surface is 0. :_”.4_
(g = 10 m/s2, mass of the string IS
negligible and no other friction exists).

Trolly

T:.E

2 kg
Block
(1) 1.50 m/s®  (2) 1.66 m/s?
(3) 1.00 m/s® (4) 1.25 m/s2
135 The electric field at a point on the

equatorial plane at a distance » from the
centre of a dipole having dipole moment
I.T

P
(r >> separation of two charges forming

is given by,

the dipole. €; - permittivity of free space)

— .ui.
(1) E =—22.
#Hmc‘.m__
o
(2) E== =
#Hm_._ re
P
(3) E=- -
-..—Hﬂm_.“____.
—
- /i
(4) E = 3
dneyr

34

T %

%ﬁmﬂ?ﬁﬁﬂ%m@%

134
o7 i@ Hifag | w,_%._| TS F 4y
afast a¥Or Toni 0.05 | (€5 :_5_,..-
2 1 FEAE FUEviig & aaLe mﬁ/ia
FrTa T8 & ) _

A .x.ﬁx;
2 kg
T
(1) 1.50 m/s? (2) 1.66 m/s”
(3) 1.00 m/s2  (4) 1.25 m/s?

135 faym ot p % et faga % = AT

ﬂ%ﬂﬂﬁnggﬁﬂﬂﬂﬁ

H___.u.u_. g%ﬂﬂ#ﬂiﬂ _m"_._@u_.__%
ga%H- q, €)— HF TS & _uw_.ﬂﬂuﬂﬂ.%

L5 2 p
() B = 2P
Anmuwm
£ —
e
i —3
3) p=__F
Lﬁm:,.b
2
4) E = #
Lﬂmuw-

| ﬁ..ﬁ_.-—_..__....



130 The angle of 1 (Minute

: of arc) in radian
1S nearly equal to, /

(1) 4.85%104

_ﬂmu_ 4.80x10°° r

(3) 1.75x1072

(4) 2.91x10™9 rad

131 The wave nature of electrons was
experimentally verified by,
(1) Hertz
(2) Einstein
(3) Davisson and Germer
(4) de Broglie

132 The length of the string of a musical
instrument is 90 c¢m and has a
fundamental frequency of 120 Hz. Where

should it be pressed to produce
fundamental frequency of 180 Hz 7

(1y 60 cm (2) 45 cm

(3) 80 cm (4) 75 cm

A wheel with 20 metallic spokes each
I m long is rotated with a speed of

120 rpm in a plane perpendicular to a
magnetic fi field of 0.4 G. The induced emf

between the axle and rim of the wheel
will be; (1 G-= 10*T)

(1) 2.51x102V

(2) 40x10°V

(3) 251V

(@ 2517 10-%V

133

24

o o 33
76 _Hindi+English |

130 1' (a9 % @) % w1 Mg 4w BT

% |IT.

(1) 4.85x107* rad

(2) 4.80%x107° rad

(3) 1.75X% 1072 rad

(4) 2.91x1077 rad

_m_%ﬁd&mﬂ%ﬁ%%

Praffaa & fpos fear a1 7
(1) ®wf

(2) FEEA

(3) e it Wt

(4) % 7T

132 faed =fa am & =18 A &= 90 em J&@
“SEdl 9w age 120 Hz ® | 3@ @8 uY
ZaTar WAl wien At 180 Hz g0 sigh

(D— 60 ¢cm
(3) 80 cm

(2) 45 cm

(4) 75 cm

133 &1 & 20 @ (amY), e s & mq.ﬂ
| m %, @ el ufsw & 120 rppm &1 aw
.@a.hm%mﬂw%&ﬂﬁwﬁ:muﬂ
¥ gftfg woar T ¥ |39 9ft # a9 =y

A & dra uf@ emf 200, (1 G = 155 1)
() 2.51x10°V N R
(2) 40=103V Y

[ -, 1 .f._r.L-J

(3) 251V T
(4) 251 x10*V



101 ldentify the function which represents a
periodic motion.

(1) Fmﬂ;ﬁE.__ (2) sinf + cos of

=iy

(3) e (4) ™

102 A _E_._E, does not wet the solid surface if
angle of contact is :
(1) equal to 60° (2) greater than 90°

(3) zero (4) equal to 45°

103 Out of the following which one is a
forward biased diode ?

(H ..FI?TJS...?I SV
&) Dt —ww— -
(4) HF?_J&E] y

104 For the circuit shown in the figure, the
current / will be

VA

2V 1 AV
1O 1Q
|
| —ww—|
I 4Q
(1) 14 (2) 1.54
(3) 0.5 A4 4) 0.75 4

105 Time intervals measured by a clock give
the following readings :
125 5, 1.24 s, 1.27 s, 1.2]1 s and 1.28 s.
What is the ﬁm_,nnn_mmﬁ relative error of
the observations 7

(1) 4% (2) 16%

101 ﬁﬁjﬁﬁﬂ@aiﬁi%ﬂ
S—— g

(1) log, lwr)

(2) sinf + COS Oy

(3) e (4) e

102 59 %t 73 fash 2 g Hi A T8 B,

a9 T BV BT 5 B £
(1) 60° (2) 90° & fum

(3) 4= (4) 45°

@Yy

104 @ & =it T fame gfigy % fro e /
E@ il

Q4% 10
|

ik
TEYRE

I 4Q

() 14
(3) 054

(2) 1.54
(4) 0.75 4

105 gi_uﬂiﬁﬂn

B — i

% arern

_mmm.Hiunﬂ_mqm 1.21 s ot 1.28 -

(2) 16% Tt

(1) %.._
(3) 1.6% (4) 2%

£3) 1.6% 4) 2%
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